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(@) =] =x*+9 (1)

Av ¢(x) =f(x)-x, xR, tte [p(x)]  =x*+9>0 dpa #(x) #0 kaw ¢ cuvexng,
apa Siatnpei otabepo npdcnpo.

Eivar ¢(0) = £(0)-0=f(0)=3>0 dapa #x >0 éwot (1) [p®] =x*+9 apa
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Apa 1 T.

o x<t<x+] HETO = va LOXUEL MOVO yLa f = X Ko ¢ = x +1 avtiotolya.

Apa f(X)< f(@O) < f(x+]1).

jl F(x)dt < j:” f(0)dt < jl flx+1)dt,
FO)(x+1-x)< j:“ FOdt < fF(x+D)(x+1-x),
FE <[ f@de< fa+1) (1)



o x+1<t<x+2 ME TO = va WOXUEL MOvo yia r=x+1 KaLf=x+2
avtiotolya.

Apa f(x+1)< £(1) < f(x+2)
jf ot < jf f(0)de < jf (x4 2)dt
Fx+Dx+2-x-1)< J:lzf(t)dt < f(x+2)(x+2-x-1)
S < [T f@de < f(x+2) (@)

A6 (& (2) éxw [ f@0ydt <[ f(t)dt, x<R.



